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The question paper is in the form of Question Booklet with 90 questions. A separate
OMR sheet is provided for answering the Questions.
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The written test will be of objective type based on the qualification prescribed for the
post with four answers indicated, of which only one will unambiguously correct.
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answer sheet as per the instructions given in the OMR answer sheet.
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Multiple answers for a question will be regarded as a wrong answer.
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14, ST gl W YRAYT & 3Yeiet] TATT T TATT Th H1 & [T fHaT ST Gehell 1
w15 3faRed e g & S|

Space available in the Question Booklet can be used for rough work, if required. No
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ddafReT ‘B (Felfere) & ue gd faf@d ulier
Written Test for Technician ‘B’ (Machinist)

g 99 hHF : M/18001-A Question Paper No. : M/18001-A
HecdH 0T : 90 Maximum Marks ; 90
AgcdHd 3afer : 1.5 ger Maximum Duration : 1.5 hours
e 3ea¥ @ : Write the correct Answer:
1. @A e f agead AT afFd ST % |
T: Least count of micrometer is inch.

3/a 1/64 d/b 1/32

hic 1/16 3/d 1/8

amﬁgmfﬁmm?:

2. The main alloying element in brass is:
3a  f@&cl/Nickel d/b fSieh / STEd/Zinc
Flc  TeaEes /Tungsten g/d  @IfAI#/ Chromium
BA 25 &T HIUT &
The angle of BA thread is:
Ha  60° /b 29°
Hlc  55° 3/d 30°
4. 390 @ vd e E@e & awEd # ded § |
4, The difference between upper limit and lower limit is ;
3da  WIT/ Fit g/b  3fueE (fAwd«) / Deviation
Hilc  IFHTYUA (A1) Dimension g/d  <ee¥ / Tolerance

z9eT Efodel MNAT 9 17 I o S ST ¢ |

Double helical gear is also known as this name.

3a & /Rack /b sRara@l=/ Herringbone
Hc gl Helix g/d @ /Worm

ofic Ao o7 Aers (Read) 719« & T 30 9T &1 394197 81l & |

6. This gauge is used to measure the thickness of sheet metal.
dla  &U/Snap d/b  E°Y/Depth
@/c  dral /| Wire g/d v /Slip

7. CNC #= &, ¢of &1 g aIfy & Uy $I3 &l 39497 e § |
In CNC machine, this code is used for rapid movement of tool.
3H/a G03 /b G02
Eole GO1 2/d G000

e & @sfl ot el AT giem &

Sum of all angles of triangle is:

3/a 180 /b 60
ahic 360 3/d 120
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10.
10.

11.
11.

12.
12

13.
13.

14.
14.

15.

16.
16.

17.
17.

18.
18.

< Hhd &I Adeld &

< is the symbol of:

3a  FHAGAAFlatness d/b WAL /Parallelism
#l/c  dadi/Perpendicularity 3/d T 3113¢/Run Out

5040.02 19 & faw 3wl War g

For the dimension 50 +0.02, uper limit is:

31/a  50.02 d/b 50.002
&lc 52 3/d 50.2

gq fihe 3 aue & AW, gl (8¢) & A W ST giar ¢ |

In this fit, shaft diameter is more than hole diameter.

3a  ciforee [Transition gb  Felr=d/Clearance

®/c I/ Interference 3/d 3 ¥ Gl / All of above

CAle H v 3R AAAEHE B ¢ |
In planer is fixed and is reciprocated.
3ffa o, Siig / Tool, Job a/b S, g MJob, Tool

MR &, & PCD & gicd &7 dear & ullcc’ & &gd ¢

In gear, ratio of PCD to No. of teeth is known as:

3/a 'ﬁﬂ—‘{iﬂ? for /CircularPitch /b UssH / Addendum
#lc  28gA / Dedendum g/d  #1ggel / Module

Hedl TIE 92 & o 9gury & 98 & 99 & 3dC & ded &

In multi start thread the distance between two adjacent threads is known as:

3/a s/ Helix d/b Wig / Lead

&/c 9 / Pitch 3/d STHcAA T / Minor Diameter
sin30°= ;

Hla 1142 /b 1/2

Fc V32 3/d 1

o7 g IO i gorg ¥ 3§ e & oRafdd far S ¢ |

Metals can be converted in sheets due to this property.

da sl Ductility b AR /7 Malleability
®/c  THAH / Toughness 3/d @S9 / Hardness

Ueldl $T g g

The unit of density is:

3la  gmicm? b kg/m®

Flc  gmim’ g/d g9 U |/ Al of Above
1 kg = qr3g (Lb) |

1kg=_____ pound (Lb).

31/a 0.2 d/b 0.22

Eole 2.2 s/d 1.4

2 M/18001-A



19.
19.

20.
20.

21
21.

22,
22.

23.
23.

24.
24.

25
26.

26,
26.

27.
2

28.
28.

29.
29.

ek G T T g

The angle of prick punch is:

3la 60 g/b 45
&ic 30 g/d 90

1ol geyqur & e & ¢ |

indicates. angle projection.
3fa  agd /Fourth @b gfadr /Second
@/c. g /Third d./s. 9UH / First

ey mafeger 3 &l eier forwr foam # gava &7
In centreless grinding both wheels rotate in which direction?
3/a a%g | Opposite /b  UH [ Same

grre Sfeeed Y& vd NfAua & fAgid 7 &R &4dl ¢ |
Dial indicator works on the principal of rack and pinion.
3a  "ET/ True b  Idd [False

mgeg WIT & Al & e &R (A & o) &1 39zer gidr ¢ |

Kerosene is used as a coolant for machining aluminum alloy.
3la  wET/ True g/b Il [False

G Reet e T Aa & afY de= 7 Fag Hidr ¢ |

Quick return mechanism helps to increase the speed of shaper machine.

3a T [True d/b ITAd | False

HY-TATET 3 e ud 9 Alel & R A gl § |
In up-milling, the direction of rotor and table motor is same.
3dfa @R/ True /b ITdd /False

A Bg & m/min 7 e § |
Feed is generally expressed in m/min.
da W [True @b ITed / False

TR # Fdel Aedl Uige 9T T T 3UATT BT & |
Only multi point cutting tool is used on planner.
Hla  WEr /True /b 9 / False

& AR & v agg A S & 39T g ¢ |
Side milling cutter is used for cam milling.
3fa TGl [True d/b AT / False

& (318) MsEar egiel ol 3T A0 verdi & forv gldr ¢ |
Hard grinding wheel is used to grind soft materials.
dla WL [True d/b e / False

M/18001-A



30.
30.

31.
31.

32.
32.

33.
33.

34.
34.

35.
35.

36.
36.

37.
37.

38.
38.

39.
39.

40.
40.

41,
41.

FEE 3T F AN & AU syAz &1 39T fFAr Srar ¥

Diamond can be used for machining of cast iron.
3F/a Tl fTrue d/b Ield / False

CITECHT FE1SS Tl I U1 W HIOT (Afafed Yo daren) fgar sman ¢ |
Positive rack angle is given on tungsten carbide tool.
Hla W/ True dlb  ITed / False

e 9 Nl AT Fex yahsy a1 Fepedr & |

Arbor is designed to hold rotary milling cutters.
dfa  TE/ True /b ITerd /False

qeU TU &l T 39U AlSFellgsel (Tehol) AT U daAlel & AT glar ¢ |

Woodruff tooth cutter is made for producing cycloidal gear cutting.
Ha W [True d/b  dreld / False

B 1 MRS A & v afFaw Felaw & 39T off g gedr § |

Vernier caliper can also be used to measure depth of hole.
da  Far/ True /b Ield [False

39 arsd & fe9se W V-98 gid ¢ |
There is V-threads on the spindle of bench vise.
3§a T /True a/b Iela / False

@ g & AU U WA e NS 1 39T e iR |

For all materials, same cutting speed can be used.
a3 [True d/b el / False

Iea=sioier ufkhar & Ages T & FW wfEmd & HIfer & e ¢

Mild steel is coated with chromium in galvanising process.
a @/ True d/b  Irdd /False

fedger &l Wrelel & a1g 39 V-sdllsh 9 @l ATl & |
After removing the spindle, it should be rested on V-block.
3a  GEr/ True &b ol [False

tand T Fgedd Hed 1 ¢ |
The maximum value of tang is 1.
3la  "ar/ True d/b el /False

g { At 3R AN F R il gy T (WS ges Ter) & 3wl fRar S § |
Right hand tool is used to carry out machining from right to left.
3a  wer/ True /b Tdd / False

AT, HiFEae A¢ & DN (TFR) &8 FT 39AT 34 ATfRIT Ud SAid & v grar g -
Square head of combination set is generally used for marking and checking for
Hla shael 90% Only 90° /b Hdel 45° Only 45°
&®lc T 90°31R45° / Both 90° and 45° 3/d 0% 180°% drg H &S &ff wlur
Any angle between 0° to 180°
4 M/18001-A



42.
42.

43,
43.

44,
44,

45.
45,

46.
46.

47.
47.

48,
48.

49.
49,

50.
50.

we fAfPad e srefley W, rpm dge7 W, Hfdar Ty

At particular drill diameter, if rpm is increased, the cutting speed

3a  TATS W@l glremains constant d/b  dedr &/ Increases

#/c  &H gl ¢ /decreases g/d ze7d) U @S o AgI/None of above

A AMeT # &I g gl §-

In shaper machine, the metal is removed during -

Hla  WRAS e /Forward stroke b Red ®F /Return stroke

Flc @@ AR @) / Both (a) and (b) 3 geTe ¥ @I & idT / None of the above

T & @y vEgdr J1 QS |
Give the name of screw shown in figure.
3ffa T §8 9 Th/Cheese Head Cap Screw  d/b e 88 &9 6 /

®lc  YCHlAIT g5 HT TR Socket Head Cap Screw
Hexagonal head Cap Screw g/d  C’sk ¢85 Th/ C’'sk Head Screv

g 398 d@rAT +0.08 mm 3R @F @A +0.03 mm 81, dd uead W aldied ¢ -

When upper deviation is +0.08 mm and lower deviation is +0.03 mm, than the tolerance on

the part is
3la 0.011 mm /b 0.11 mm
&fc.  0.005 mm 3/d 0.05 mm

AABC & foltcosd =

For AABC,cosb =

Hla AB/AC d/b AC/BC
/C BC/AC s/d BC/AB

w10 AT F Al f Agead G€AT §

Maximum no. of triangles in the given figure is
3da 8 d/b 12
Eale 16 g/d 20

TG T B A AT FH TS ARl &

We can reduce the fire by removing

3fa  EFHSE/ Oxygen g/b  FuHIHeat.

Fic S /fuel g/d 35 ¥ F5 i/ Anyof above
Safgeer 35 & adf ud a# el & YALT §

In indexing head ratio of worm andworm wheel is

3/a 40:1 /b 60:1

&lc 80:1 3/d 120:1

qaRy e Wi T, ¥ g & A Y

The material which can be cut with highest cutting speed is

3la HIEC T /Cast iron /b T (silel)/Bronze
Flc  3=d Fe Fera/ High carbon speed g/d  wegEEEHE /Aluminium

5 M/18001-A



51.
51.

b2.
52.

53.
53.

54.
54.

55.
55.

56.

56.

57.
87,

58.
58.

59.
59.

PIgel Ag N F SAT ST &

File is made of

3fa 3T &6 T8 / High Carbon Steel b gls ¥g ¥ /High Speed Steel
®/c  Frass/Carbide g/d  FW & @A/ All of above

SiN(sTeT) gaehr fAs g &

Bronze is alloy of

3/a  di€r 3R &+ /fcopper and tin g/b  diar 3T [ / copper and zinc
@w/c  diar 3R WA /copper and lead s/d  dier 3N vedfA@a#/copper and aluminium

g A HEW WEd FET ol AORAW e g2

Which of the following cutting tool material is hardest?

3fa g5 ¥s ¥ High Speed Steel @b ITd @l &re / High Carbon Steel
w/c  faufds Jceramic 3/d  @rErss /Carbide

6 cm, 8 cm 3R 10 cm STSfErel @ICHIOT ety &1 A &

Area of right angle triangle having sides 6 cm, 8 cm and 10 cm is
dla 24 cm? db 40 cm?

o/ 30 cm? gd 7.5 e’

Y AT A 45 AF U A TAS SN §

Bed of the lathe machine is made of

a  #ATSes T /Mild steel g/b  @IEC 3 / Cast iron
@lc ol ¥ [Tool steel 3/d  @reel TId /Carbon steel

afe 120 mm PCD WX 6 & (@) fFd 910 § aF o IRaey (Ia-9iy &) 8¢ & &I &1 3l &41
gram?

If 6 holes are drilled on PCD of 120 mm, what will be the centre distance between two
adjacent (nearest) holes?

3/a 30 mm d/b 60 mm

&/c. 120 mm 3/d 240 mm

T gfd & 1 dey & TR §

The equivalent of 1 meter in the inch system is

3dfa 3937 d/b 36"
Hdlc O 5/d 37.39"

6 dolel WX A A S @ IR T g F N7 F Hor ¥

The angle beween small hand and big hand at 6.00 hours is
Hfa  90° d/b 180°

w/c  60° g/d 360°

A & 9 T A A R urg T uear Hed S § 2
Which material has the highest density among the following?

3da  UegfARAIA /Aluminium b AZes T /Mild steed
F/c  HEr (I8)/ Lead g/d  ATTEIA/Magnesium

6 M/18001-A



60.
60.

61.

61.

62.
62.

63.

63.

64.

64.

65.
65.

66.

66.

@W%Hﬂﬁﬁﬁ%ﬁiﬂgﬂmﬁﬁqmm
While machining of aluminum we getthis type of chip.

s faday (HEwg3n) [/ Continuous chip /b
Fic  IfeRar (Eraad=a3r) fAad/Discontinuous chip g/d

gagy ™9/ Powder chip
o & U off A6l

None of above

AR Fex & Fo ' 16.5 m/min. § | % & F @ 21 mm ¥ a &l & rpm glev

|(n=22/7)

The cutting speed of a milling cutter is 21 m/min. Find the rpm of cutter if diameter is 21
mm. (n=22/7)

37/a 25 /b 250

&hic 2.5 s/d 2500

fag & @Y av e @ aste gRT | p = 10 gm/cm’. (n=22/7)

Find the weight of the part shown in figure. p=10 gmicm®. (n=22/7)

CGIHRE Agmmal T v |

Note: All dimensions are in mm.

3/a 221 gm d/b 925 gm
&ic 52900 gm s/d 529 gm

Fer TO¢ MR 3T F, gSay aMeR 9y 20 @id & 3 600 rpm
¥ & | 60 gidare f3ae AR i w5 gev |

In a simple spur gear drive, the speed of driver gear having
30 teeth is 600 rpm. Find the speed of driven gear having
60 teeth.

3/a 200 rpm /b 12000 rpm

&hic 600 rpm g/d 20 rpm

S0

428

ab

25

v TR e 200 rpm F A & 0.15 mm 9y g¥ A B3 g W@ & | A F1s 300 mm

ufy Mfe & ar s W Faw gid (@) @ ? (v = 22/7)

The milling cutter is rotating at 200 rpm with the feed 0.15 mm per tooth.If feed is 300 mm

per minute than find no. of teeth on cutter. (n = 22(7)
3da 20 /b 30
Eale 10 2/d 40

frr & REr T e & A (TRA) gl |

Find the area of the shape shown in figure.

gaa: @l Admm3 2w 717 § |Note:All dimensions are in mm.
al3t 4500 mm? b 2250 mm?

FHic 3000 mm? gd 1500 mm?

30

_
!

ﬁ )

/

50

60

mq?{a?vtgréaﬁ100mmaw£r§1émgm1400rpmwayqﬁr%laﬁ%aﬂtﬁrmoo

rpm O g W § A 3HH o gt |

In open belt drive, the driver pulley of 100 mm is rotating with 1400 rpm. Find the diameter

of driven pulley If it is rotating with 1400 rpm then.

H/a 200 mm d/b 100 mm
e 1400 mm 2/d 140 mm
7
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67.
67.

68.
68.

69.
69.

70.
70.

T & @ 71 e &1 gl gRU ((n=22/7)

Find the perimeter of the shape shown in figure.(n=22/7)
= gy aammdA 4T 0 § [Note:All dimensions are in mm.
Hla 170 mm d/b 100 mm

&hic 390 mm 5/d 280 mm

70
fAfee et &1 &dier ¥is 44 m/min. & | af2 #eT & pm400 § aF Fe & a gRT | (n=22/7)

The cutting speed of a milling cutter is 35 m/min. Find the diameter of cutter if rpm is 400.

(n=22/7)
H/a 44 mm d/b 40 mm
h/c 35 mm g/d 22 mm

At @IS et @7 & 60 . W 80 & dg A av fhdr % Hr wekd g8 2

If the prize of an item is increased to Rs 80 from Rs. 60, the % increase is?
3/a 33.3 % &b 25 %

e 20 % s/d 30 %

1000 . WX 6% AT ¥ W 3 il & fold |l caraT &7 (A gl 2

The simple interest for the amount of Rs.1000 at 6% rate for 3 years is:
3fa  Rs. 60 a/b Rs. 120

@lc  Rs. 180 dfs Rs. 240

wee 71 & 85 & ford, R 1 & fGme 3 faw vd A AT el & wer & oy g gar:
From Question 71 to 85, match the parts from the fig. 1 of Column and Knee Type Milling

Machine.

71, @l W7 SR AT g2 @I g7

71. Which no. represents Knee?
3fa 4 /b 13
hic 1 3/d 3

72, @l W AeX WS gUT L@ 87

12, Which no. represents Saddle?
3i/a 2 b/ & 16
ic 6 g/d 15

73, i W AG e @AE g @ g

73. Which no. represents Arbor Support?
3/a 7 §/b 9
Cale 8 s/d 10

74, @ld AT A Hex gal T §?

74. Which no. represents cutter?

3la 12 a/b '
Fic 11 5/d 15

8 M/18001-A



75.
75.

76.
76.

77.
77.

78.
78.

79.
79.

80.
80.

81.
81.

82.
82.

83.
83.

84,
84.

Fl7 @7 A SR Fre e gl W@ g?

Which no. represents telescopic feed shaft?

3/a 15
&h/c 9

d/b 11
g/d 6

@l a1 el 97 &2AT T 87
Which no. represents base?
31/a 2 g/b 3
&ic 12 s/d 1

Fler @ dax 3R gl @1 87
Which no. represents arbor?
3la 13
&wic. 10

dlb 1
5/d 12

Fle Fr da¥ 3NaT 3T gel Wr 87

Which no. represents over arm?

3/a 13 /b 11
&hic 9 g/d 5
Fl 1 ey eao g2l @T 82

Which no. represents table?

3/a 11 d/b

Ele 13 g/d

T @1 e HeA Al W 8?

Which no. represents column?

3/a ¥ /b 13
@hic 8 3/d 3

et |7 AT P FS sl g2 WM 87

Which no. represents cross feed handle?

/b 5
3/d 7

3H/a 12
Ealel 9

Pl AT Fa e 97 &M TET 82
Which no. represents front base?
3/a 8 d/b 7
&/c 1 3/d 4

FieT @ Aev vTRAT T & @ e?
Which no. represents elevating screw?
3/a 12 a/b 14
&ic 2 s/d 5

et @1 FaC Al el @l e §?
Which no. represents cone pulley?
/a 14 d/b 7
&ic 16 g/d 2

[N

W

o

B
ot
=
!
l".
1;
L
L
l_:,_:_,,
i

L'r/?—;‘m\ ; L‘;,{__V ! V[" :,{!-lrf ’IIY E{ L
4\\_'_:‘! » \“7@\ - '.'f. | }t}:::.—::{r____ e
L1 3/ E} T—— Lﬁ,f ____ L r A;—Tfr ftergmese :}
[ J-——L )‘ J__ﬂ____fj_ﬁ___]é‘
s )
. U

g 71 @ 85 & fod 9 1
Fig. 1 for Q-71 to 85
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85.
85.

dlel AT A A7 vfadfeagese gaf w@r &7

Which no. represents knee elevating handle?

3/a 1 d/b
hfc 1 3/d

1

4

wRaT 86 W 90 & ford, ™ 2 F e 3 fffiea yoR & AR et & R @@ g gan:
From Question 86 to 90, match the parts from the fig. 2 of Different Types of Milling Operations.

86.
86.

87.
87.

88.
88.

89.
89.

90.
90.

BT AT HAax Felle AT gaf w@r &7
Which no. represents Slot Milling?
3/a 1 d/b
Fc 3 3/d

ﬁﬂmwmaﬁﬁgﬁﬂaaﬁmﬁ?

Which no. represents Surface Countring?

3la 5 §/b 4
&ic 3 g/d 2
FieT W1 daX Foia AT gt w1 &2
Which no. represents Slab Milling?
31/a 1 g/b 2
®lc 3 gd 4
HiT TT AT @53 AR gaf w@r &7
Which no. represents Side Milling?
3/a 2 /b 1
clhd 4 g/d 3
HisT AT AaX Teaal fAfder gaff @r 872
Which no. represents Straddle Milling?
3la 5 /b 3
&ic 4 3/d 2

Muibng cutier

hiliing cutter

m_v --_.’E}

o

I

1

Work
piece

3

|
gk

Ling cultes

‘Work plece

Feed directon

5

IT

1 7l
LD

RIREN

Wik
piece ™

2o o ots 0% o0
EXEX IR S

6 HT

QuY T G158 H1 39GNT I H1F F o T ghd © |
Rough Work
You can use the side space of paper for rough work.

10

g 86 U 90 & foy w2

Fig.2 for Q-86 to 90
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